
■ 次の2つの式の和を求めなさい。また、左の式から右の式をひいた差を求めなさい。

① 5𝑎+6𝑏 と 2𝑎－3𝑏 ⑥ 𝑎²+6𝑎－6 と －𝑎²+3𝑎－5

和 差 和 差

② 𝑥+7𝑦 と －4𝑥－7𝑦 ⑦ 𝑥+5𝑦 と 3𝑥－7𝑦

和 差 和 差

③ 5𝑥²－7𝑥 と －2𝑥²－7𝑥 ⑧ 𝑎+2 と －𝑎+2𝑏－3

和 差 和 差

④ 5𝑥+4𝑦+6 と 𝑥－7𝑦+4 ⑨ 𝑎²+3𝑎+3 と 4𝑎²+5

和 差 和 差

⑤ 3𝑎²+5𝑎 と 𝑎²－6𝑎 ⑩ 3𝑥²+7 と －𝑥²－4𝑥－5

和 差 和 差
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(3𝑎²+5𝑎)+(𝑎²－6𝑎) = 3𝑎²+5𝑎+𝑎²－6𝑎 (3𝑥²+7)+(－𝑥²－4𝑥－5) = 3𝑥²+7－𝑥²－4𝑥－5

(3𝑎²+5𝑎)－(𝑎²－6𝑎) = 3𝑎²+5𝑎－𝑎²+6𝑎 (3𝑥²+7)－(－𝑥²－4𝑥－5) = 3𝑥²+7+𝑥²+4𝑥+5

4𝑎²－𝑎 2𝑎²+11𝑎 2𝑥²－4𝑥+2 4𝑥²+4𝑥+12

(5𝑥+4𝑦+6)+(𝑥－7𝑦+4) = 5𝑥+4𝑦+6+𝑥－7𝑦+4 (𝑎²+3𝑎+3)+(4𝑎²+5) = 𝑎²+3𝑎+3+4𝑎²+5

(5𝑥+4𝑦+6)－(𝑥－7𝑦+4) = 5𝑥+4𝑦+6－𝑥+7𝑦－4 (𝑎²+3𝑎+3)－(4𝑎²+5) = 𝑎²+3𝑎+3－4𝑎²－5

6𝑥－3𝑦+10 4𝑥+11𝑦+2 5𝑎²+3𝑎+8 －3𝑎²+3𝑎－2

(5𝑥²－7𝑥)+(－2𝑥²－7𝑥) = 5𝑥²－7𝑥－2𝑥²－7𝑥 (𝑎+2)+(－𝑎+2𝑏－3) = 𝑎+2－𝑎+2𝑏－3

(5𝑥²－7𝑥)－(－2𝑥²－7𝑥) = 5𝑥²－7𝑥+2𝑥²+7𝑥 (𝑎+2)－(－𝑎+2𝑏－3) = 𝑎+2+𝑎－2𝑏+3

3𝑥²－14𝑥 7𝑥² 2𝑏－1 2𝑎－2𝑏+5

(𝑥+7𝑦)+(－4𝑥－7𝑦) = 𝑥+7𝑦－4𝑥－7𝑦 (𝑥+5𝑦)+(3𝑥－7𝑦) = 𝑥+5𝑦+3𝑥－7𝑦

(𝑥+7𝑦)－(－4𝑥－7𝑦) = 𝑥+7𝑦+4𝑥+7𝑦 (𝑥+5𝑦)－(3𝑥－7𝑦) = 𝑥+5𝑦－3𝑥+7𝑦

－3𝑥 5𝑥+14𝑦 4𝑥－2𝑦 －2𝑥+12𝑦

(5𝑎+6𝑏)－(2𝑎－3𝑏) = 5𝑎+6𝑏－2𝑎+3𝑏 (𝑎²+6𝑎－6)－(－𝑎²+3𝑎－5) = 𝑎²+6𝑎－6+𝑎²－3𝑎+5

7𝑎+3𝑏 3𝑎+9𝑏 9𝑎－11 2𝑎²+3𝑎－1

(5𝑎+6𝑏)+(2𝑎－3𝑏) = 5𝑎+6𝑏+2𝑎－3𝑏 (𝑎²+6𝑎－6)+(－𝑎²+3𝑎－5) = 𝑎²+6𝑎－6－𝑎²+3𝑎－5
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